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2. JoGepith o dynkiii (1-3) eckis 1i rpadika (A—T).
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3. Ho6epith no pyukuii (1-3) eckis 1i rpadika (A—T).
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4. JloGepits 1o ¢ynkuii (1-3) eckis 1i rpadika (A-/).
Dynxyis
Loy=vx
2. y=2"
1
3. y=-
X
Eckiz epaghixa gpynryii
YA YA YA
o X (¢ X ) >
pewyers.pd pewyers.pd ppwyers.pg
A b B
Ny y
0 x o X
ewyers.pd
pewyers.pd
A
r
A
b
B
r
pat
1
O000O0
2
O000O0
3
O000O0

3/17 CKIJIAZIY HMT — maremaruka



5. Ho6Gepith no dynkiii (1-3) eckis 1i rpadika (A—T).
Dynxyis
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6. JloGepits no ¢ynkuii (1-3) eckis 1i rpadika (A—/).
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7. JoGepits no pynkuii (1-3) eckis 1i rpadika (A-/).
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8. HobGepith no dynkiii (1-3) eckis 1i rpadika (A—T).

Dynryis
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9. JoGepith no dynkiii (1-3) eckis 1i rpadika (A—/T).

Dynxyis
L. y=2—(x—3)*
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10. HdoOGepitb no ¢ynkuii (1-3) ecki3 ii rpadixa (A—).
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11. Hdo6Gepith no dynkuii (1-3) eckis 1i rpadika (A—).

Dynxyis
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12. JloGepite mo ¢yukuii (1-3) eckis ii rpadika (A—[I).
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13. JloGepits no ¢ynkunii (1-3) eckis i rpadika (A—[T).
Dynkyis
1. y=2*
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14. JloGepite mo ¢yukuii (1-3) eckis ii rpadixa (A—/1).

Dynryis

1. y=vx-2
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15. JloGepite o ¢yukuii (1-3) eckis ii rpadixa (A—/1).

Dynxyis
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16. JloGepite o ¢yukuii (1-3) eckis ii rpadika (A—/I).

Dynryis
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17. JoGepite o ¢pyukuii (1-3) eckis ii rpadixa (A—/I).
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18. IoGepits no dynxuii (1-3) eckis ii rpadika (A—[I).
Dynxyia
1. y= X
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1 1
ol 1 X o[ 1 X
peLuyoraipd peLuyors,pd
B r
JA
1
o[ 1 X
peLuyoraipd
A
A
b
B
T
A
1
OO000O0
2
OO000O0
3
OO000O0

15/17 CKIJIAZIY HMT — maremaruka



19. JloGepite o ¢yukuii (1-3) eckis ii rpadixa (A—/1).

Dyuryis
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20. [oGepith no pynkuii (1-3) eckis ii rpadika (A—[).
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